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[2] Al2eL ALl 2icis1z syRuAl. [03]
[3] A2l 20 18l [02]
[4] A1l B a1l [02]

URA—5 [21] 21818 QUi 521, [05]
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[5] <il2 wiUd dA=vigd HIGHIMHE 2141z 521, [08]
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[61] DA 2udaL usl st Azsd wasaul avil. [06]
[5] <12 tudL Uil sxdlon oor1dlHL Qvil. [06]
[¢] Al zuual Eendimil 2z @ad 20 vV i vzt Qe 4 x L [l s21. [05]
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[8] <il2 wiue AHUA g AosHl @vil. [04]
[$] 122U dvald 2zgd vis dHsy woeHi d@vil. [04]
3 usd 4 [y 4wl s3A.
[1] l2iqlL 2o2idi Anldl aoe avil, [02]
[2] <ld-L 2o2idL [420H] 202 avil. [02]
[3] {2l 20 9181 [02]
[4] <1<l “®E sx12l. [02]
[5] 12 suud Amzuidl [Alsd siioml. [02]
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ENGLISH

pMeusy :— 1 to 4, grammer-1 to9, composition 549w : 80
% Q-1 (A) Find out and write the rhyming word from the poem. (04)
(B) Answer the following questions. (04)[Any Four]
(C)Write the following statement true or false. (06)
Q-2 (A) Match the column. (05)
(B) Fill in the blanks with the proper verb forms from the brackets. (05)
(C)Write the following statements who said to whom. (03)
Q-3 (A) Answer the following question from the given information. (05)
(B) Complete the dialogue from the given brackets. (05)
(C)From question to get underline word as answer. (Any three) (06)
(D)Do as directed (V2, V3, form) (06)
Q-4 (A) Make sentences to use of degree of comparision. (05)
(B) Fill in the blanks using proper interrogative pronoun from the brackets. (05)
(C)Fill in the blanks with the use of given graph. (05)
Q-5 (A) Write any one essay. (06)
(B) Read the paragraph and answer the following questions. (05)
(C)Write a letter. (05)
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Maths

Syllabus:1 to 7 Total Marks:80
Section-A Each question carry 1 marks.[27]
Que:1 (A) Choose the correct option from those given bellow. [05]
(B) Fill in the blanks.[05] (C) Statement whether are true or false.[05]
(D) Answer the following. [08] (E) Match the following.[04]
Section-B Each question carry 2 marks.[18]
Que:2 Solve the following. [18]
Section-C Each question carry 3 marks.[18]
Que:3 Do as direct & follow the instruction. [18]
Section-D Each question carry 4 marks.
Que:4 (A)Solve the following problem. (any 3)[12]
(B)Draw Bar graph. (any 1)[05]

Science

Syllabus:1 to 6,12 Total Marks:80
Que:1 (A) Answer the following question by choosing appropriate option. [05]
(B) Do as directed. (i) Differantiate between followings.(Any one)[03]
(ii)Define following terms.(Any four)[04]
(C) Write short note on below given topics.(Any two)[08]
Que:2 (A) Fill in the blanks. [05]
(B)Do as directed.
(i)Explain given sentences by giving scientific reason.(Any two)[06]
(ii)Draw a well labelled diagram.(Any one)[03]
(C) Describe the following experiments by drawing diagram, writing procedure,
Observation and conclusion.(Any two)[10]
Que:3 (A) State wether following sentences are ‘True’ or ‘False’.[05]
(B) List the apparatus used in following experiments.[02]
(C) Answer below given questions in detail.(Any three)[12]
Que:4 (A) Answer below given questions in one word only.[05]
(B) Answer following questions in brief.(Any five)[10]
(C) Classify the given terms.[02]
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=2 [2] DA UL 6150 AL Gz Ul (LM d o) [04]
[er] {2l nsdiqi 244242 Gdz quil. (A4 d 6)[08]
a3 [] <l [Qadiqi sizel sl 4 6) - [04]
[64] <12l uislidl uzan @vil. (AH 4 6) [086]
U4 [H]yA YHEL 53U,
[1] <2l aogidi aui-el 2oe d@vil (M d 6l)  [02]
[2] A2l 202idl [E21H] 202 QUL (14 d 1) [02]
[3] <l gozidl 2l sxigell @vil. (M d o) [02]
[4] 3(zmAio1dl 49 0l Al Quil. (A4 A 6l) [02]
[5] osus HIZ Y5 2o UL (AH d 6l) [02]
[6] il salawtl 921 uidld @il [02]

[7] il talazila sriéld wos oidldl. [02]




[ot]Hi2dL wHIRL 53).

[1] <12l Al us1z sreudl, [03]
[2] dl2L ALl 2Acis12 syRlAl. [03]
[3] il 2il= 9181 [02]
[4] A2l B o1l [02]

U5 [o1] 2AsAd duid 521, [05]
[o4] (A2 — [Azd1z d@vil (04)  [5] <llaied s1en Azl usdial syaiot @vil. [04]
[€] 515Ul s (A9 uz [ois, quil. [07]
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o us 1 [2] D2 €35 usau el W »udal [Qsanidl Rl [@sey avil. [05]
[64] R A A 2igd sy @vil. [05]
[5] <il2 wiUd dAvigd HIGHIMHE 2Aale 521, [08]
[8] <12 iU Uarad HidMIMML 2idale 521, [06]
s 2 [91] DA 2a seds yld sA. [03]
[61] DA 2udaL usl- gl Asd wsaml avil. [06]
[5] <12 2uudl UsdidL sxaiol oIl Qvil. [06]
[&] <13 2udal [Eaidmigl 2 [@aid 408 v wid viiz) [@aid 4 x <l @il s21. [05]
$*usd 3 [] Aoy [Rseu urie 9 vudl orout y3l. [05]
[61] DA 2004 A sl AgaAH] AqE 50.[04]
[5] <12 wiua dipild s smi 3241, [03]
[4] 12 2UUe aHAA Agd aoeul quil. [04]
[6] <l 2uUe duald dzsd vis dHsy woeHi @vil. [04]
o8 usd 4 [ w3
[1] <Al 202idi aHLel a0 dvil. [02] [2] <l 20gidL [G214H] 20z quil. [02]
[3] 12l %[ 9181 [02] [4] 3 A o711 [02]
[5] 12 suue Mzl A5 siovil, [02]
[6] 12 suud [saruz-l 3ulil 2Aam 2. [02]
[7] 12 20Ua 2zgd 2ol AsxRidl 218 Quil. [02]

[8] 12 1ud =1l 21081 2zsd 214 @uil. [02]

ENGLISH

pMeusy :— 1 to 4, grammer-1 to9, composition 4@ : 80
s Q-1 (A) Find out and write the rhyming word from the poem. (04)
(B) Answer the following questions. (04)[Any Four]
(C)Write the following statement true or false. (06)
Q-2 (A) Match the column. (05)
(B) Fill in the blanks with the proper verb forms from the brackets. (05)
(C)Write the following statements who said to whom. (03)
Q-3 (A) Answer the following question from the given information. (05)
(B) Complete the dialogue from the given brackets. (05)
(C)From question to get underline word as answer. (Any three) (06)
(D)Do as directed (V2, V3, form) (06)
Q-4 (A) Make sentences to use of degree of comparision. (05)
(B) Fill in the blanks using proper interrogative pronoun from the brackets. (05)
(C)Fill in the blanks with the use of given graph. (05)
Q-5 (A) Write any one essay. (06)
(B) Read the paragraph and answer the following questions. (05)
(C)Write a letter. (05)

R3]

MeARASH :—1 to 9, fEaFerl, T, TR, @R ga e : 80
& g7 1 (ar) FrafoRed 9@ =7 @ forg g v fyeedt 3 & 981 Rder e faRaw: [03]
(9) FrafaRad 9= & SR UH-Ua arad ¥ faRe: (Tg-aa § 4 88 ) [06]
(@) FrfeRad 9=l & Sax -0 aret 7 fotlge: ( Ter-9fa 7 9 ) ) [08]
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